@ ¢ Fap §

Hor Blbor Bomik 1 078

G2

(@) NEEN

Q| = Al WD DN DN

AN =

N O | W A1 N

AN

+
O | O\

+
£

+ +
AN —

ool W

+ + +
(G NN O] W NN

+
oo | N

+
ool N

+
Do D

www.snowmath.com

H #A:

ﬁ]\

8



https://www.snowmath.com

BB 20Nk 108

G

7 6 11 5
i 2= =1z
6 9 6 6
5 5 15 3
T R
2 4 4 4
5 1 17 5
T P
4 6 12 12
1 3 1

4 =_

g8 &8 2

1 7 23 11
4yl = o=
6 4 12 12
7 3 23 5
4= 3z
2 9 6 6
2 4 13 3
iR G N
4 5 10 10
3 5 23
4=

9 8 24

7 2 15 3
T S
2 8 4 4
2 5 17 5
T S Yo
6 2 6 6

www.snowmath.com

H -

g &



https://www.snowmath.com

